112.

113.

114,

The wavelengpthe . * CHEMISTRY
s lie in the ultraviolet region ?

(2) Balmer
(4)  None of the above

9 S50k S5 1o @ed 0do &y 05508 Sotnod ?
(1) 8DS Fed

(3) Paschen

(3) 3"'535693 | : | ‘. o =2

de e 2) n=2,1=0,m=-1
4) n=1/=2,m=-1

What is the wrong statement about transition metals ?

(1) They are diamagnetic (2) They are paramagnetic
(3) They form complexes (4) They show variable oxidation states

305G &S0 IRADHIE’ & 808 IS DB &35y, ?

(1) S83ZS &Sfen HAD WADIOS S (SN (BSOS,
(2) D0X8S &S oo ©ADHIOE B 5;@:63 PR oW, |
(3) 303588 &' SFen 0B S FT 0 IS,

(4) 38355 S55ben VG 385580 PO (SESH0D.

The element that possess the lowest ionization energy among the tollowm,s_.,
(1) Oxygen (2) . Fluorine
(3) Sulphur ; (4) Nitrogen

5 1808 Soroseed S5 OIrAEses ¥ Ko Soressn Da? - Cdo ety

(1) edyeS 2) 65
(3) Soyd (4) JeS'esS
[23]
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115.

116.

- 117.

118.

119.

- 120.

Which of the following is a favourable factor for the cation formation ?
(1) High electronegativity (2) High électron affinity
(3) Low ionization energy (4) Smaller atomic size

5 800 TIE D 0¥ SEAIS D EEH0 WA ?

(1) Q¥ 2x00es DTS ES (2) <Y 00[555 DV

(3) S eoHIESEe F8 (4) DB SESrew SOBreadn

Doublec bonds are present in

51 (808 TV BoFrOR SOA &30 I8 ?

(1y €O, (2) BeCl,
(3) CH, (4) MgO

Dalton’s law of partial pressure is applicable to

arS F3E Do DapHsn 3D SOOI ?

(1) NO+0, ) H,+Cl,
(3) NH,+HC! 4) CO,+0,

The number of *Si gma’ and ‘Pi’ bonds present in inorganic Benzene.
35es0°08 BoEs & Iy ¢ 1y’ wOFre I ‘P’ wOTTeD S0 ?

(1) 9o,06m (2) 60,37
(3) 120,3rn (4) 90,3n

How many moles are present in 540 grams of Glucose ?
540 (TS0 KrS'ES” D) Irden K0 ?

(1) 2 2) 3
3) 4 T 4) 5

The volume of two gram moles of oxygen at STP is
(1) 22.4 Litres (2) 11.2 Litres
(3) .40 Litres (4) 44.8 Litres

STP 3¢ Both (T IrSo es8yesd Jod $H3305reazion SOA GOt ?

(1) 2248 2) 11288

(3) 409exy 4) 448068

[24]

121.

122.

123.

124,

125,

The Enthalpy ‘H’ can be given as

058y *H' 83D 5ot 2

) H=E-

. =-Pv (2) H=E+PV
Wi S=bebiy 4 H=E-TS

In which of the followin
g the bond lengt i .
(1) 2 - Butene gth b(‘:_';t;”e“-’l" C;':’tﬂﬁ and carbon atom is equal ?
< - Butene

(3) Benz
e (4) Propyne

5 (808 TS S0 DO SE00 D5 20 ErESH B3I BiSrsSsonT
GOLNO0H ?

(1) 2-engedS (2)  1-eedS
(3) BoBS @) >S5

The O - H bond energy i :
e rgy in water when compared to O — D bond energy in Heavy water

(1) No change (2) Greater
(3) Doubles (4) Lesser

PGS AIED 0 - H 2065 #49, 56 2050é™ 0 - D w0 348 39,3
(1) SortDy OGS (2) YT &oenod

(3) TeJoIr &otwod (4) S Gowod

The product obtained at anode when 50% H,SO, aqueous solution is Elecn:olysed‘

50% Senys0§ epsn W) o (@S IS IINeH 003 @ FE 3¢
' T -

BN B ?

(1) H,SO, 2) H,S,0,
) O, (4 H,

Which compound is used in submarines for the purification of air ?

oSBT od’ md DGO BID GIBTAILD ?

(1) KO, (2) Na,O,
(3) Nﬂzo (4) KEO
[25] Turnover




: 131. In ‘hep’ arrang
126. When diborane undergoes methylation the number of hydrogen atoms replaced 1s P arrangement, the co-ordination number is
- ih » - g
AE'E5m PFRT SE5 003 BEO 6D IR TE B SCATEDVD P8I0 P ODBEE S5 Sogs Joss 2
10 e:HT 0o ? - (1) 6
(1 6 | 2) 2 ” 4) 10
(3) 4 4) 3 -
: 132. Missing of one cati :
127. Graphite and gas carbon are a pair of A T cation and one anion from the crystal lattice is called
(1) Isosters (2) Allotropes i ctystal (2) Crystal defect
(3) lIsomers (4) Compounds (3) Schottky defect Ay  Freikeldeta
&5 SHBASH TR SEy® &8 20 y
™ $ 58S et 28 S IS5 H08 08 SHAPS 28 eSS EHoDSHE D50t ?
>0 2) ErroSTren
(3) Db (4) DAyFTeeD \ -
(3) e 635 (4) PodS 55w
128. Ozone layer is present in the region
(1) Troposphere (2) Stratosphere 133. What is the molarity of 4% N T
(3) Mesosphere (4) Exosphere y o NaOH solution ?
.55 5 D SrodS5né’ &oenod ? 4% NaOH (@S5easi0 @), 30e70e3 Jods ?
f :
(1) (€5°0ya0b ) t—:g_ges‘:a;,dias :1; ? I m 2) 02m
i - IT! (4) 2
(3) 33)3‘3«330'1)5 (4) Q?Dba)o:ﬁaﬁ m
134. The solubility of gas in liquid i i
129. The final product in the chlorination of methane is y _ & quid increases with
5 o34 S 555 50 VGG Sy 08 2 (1) Increase in temperature
< mw y
SR ESRe e ISoe 2% TR (2) Decrease in temperature
2
(hH CCi, (;) E:Cé-’} (3) Decrease of gas pressure
3 CHCh ) } (4) Increase the quantity
130. C,H,Cl _Alc.KOH, X HBr _, Y. What type of reaction takes place in the &8 030D [Cﬁ;ﬁainé‘ K06 BAS508 9dESD ©HHod ?
formation of *X’ ? |
(1) Hydrohalogenation (2) Dehydrohalogenation (1) é%u’fé DIV SO0
3) Halogenation (4) Dehalogenation
) X ¢ N ¢ ' (2) 6%[?&‘5 S 308
C,H,Cl _AlcKOH X __ HBr Y& 36556° X’ Byied ) BED B85 7
(1) TEFSEISS @) ArESEESaS (3)  Sesssm S 303
(3) SEEIAS @) ASE’RISS (4)  Soey S0Sress DOIHE S0
4 [26] 4 127]
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135. Which of the following is a lyophilic colloid ? .
139." The conjugate acid of COY g

(1) Milk (2) Gum
(3) Snow (4) Blood | CO;” D%, Sodinr exgiso H8 2
52 208 T8 OBrHOE Egronk I8 ? i () H,0
(1) (2) o8 » (3) OH- 4 3
(4) HCO;
(3) HoH (4) O53»
140. The pH value of 0.0001 M HC/is
136. Which one of the following reversible reaction cannot be affected by pressure ? 0.0001 M && Ko HC! Q%) pH Jenss Jods 2
Bt 1800 B SE08° HHBR S HES BHETII SOED. : (h 2 @) 3
(1) H,+l,==2HI (2) N,+3H,==2NH, 3) 4 @) |
(3) PCl;=PCL+Cl, (4) 2NO+0O,==2NO,

141. Which chemical is used for cooling in refrigeration ?

' 137. The rate of reaction 83955050 6° RsTal N §5%9550 D 8aD:S :Sm‘g:ﬁoa el 1 et I

(1) Decreases with time I C
(€0, ‘ (2) NH,OH
(2) Decreases with decrease in the concentration of reactants 4
(3) Decreases with increase in time and decrease in the concentration of reactants (3) NH,C/ (4)  Liquid NH, /i&533 NH,
(4) None
2.5 505 3e» 142.  Ozone can be obtained by oxygen
| (1) By oxidation at high temperat
(1) sosn& Jew SK. ; oaoa s Lghieapee
| . (2) By oxidation using a catalyst
2) BOreSso mES SINSOS e SN (3) By using high pressure
: (4) Bysilent clectric discharg
(3)  Srosm DS HO EATESSe MES SREOS Jtw S, y silent clectric ducharge
s Dod LE'S a0 SO0 :
4 0.
() oY & 3¢ edSessin 3o
138. The number of coulombs required for the deposition of 107.870 gram of silver is . (2) esd  St5ea50 & é@csgm ASTPAOSE S05
| 107.870 rsn0 0.8 DEFE MO ) Erarotio IS eSHEED ?
(3) 8% bessn a3Arhohes S0
(1) 96500 (2) 48250
(3) 193000 (4) 10000 | - (49) N 3,;5,55 sa’)sg;m 508
4 |28] _ 4
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143. Which of the following statement is correct ?

fﬂ.-—j

144,

148.

(1) Al halogens except fluorine form oxyacids.
(2) Only chlorine and bromine form oxyacids.
(3) Al halogen form oxyacids.

(4) Only lodine form oxyacids.

5 (200 08" DO eI ?

(1) 0S5 83y 03 F&uSe ey esron JGHEHD.
2) 505 50d5m (B SED esdy esispoRd DEGOH.
3) o) FEuSom ey siposH JGEHD.

@) OSrAS SrEd ed) esros DEB.

The solubility of noble gases in water increases with an increase in
(1) lonisation potential of noble gases

(2) Thermal conductivity of noble gases

(3) Atomic volume of noble gases

(4) Electron aftinity of noble gases

DS’ et dNYHO (THAAHS 2O 2OAS DIV ?
(1) sETENHO ©dHISEes ¥§

(2) eEIANYO GF T L0

(3) SEIANHO SESrED DSHOI,E SO

(4) sETBVYO aeg.s eI

In complex compounds, the primary valency of the metal is always
(1) lonic (2) Covalent

(3) Zero (4) None/R3)
%oy SAMTT o’ 650 (HEDH SoBraES JgHpd

(1) edirds (2) JDAreVAD

(3) D 4) W sw
[30]

146.

147.

148.

149,

150,

For natural polymers ppj is generally
avcp‘drazé_mn' e FOE0 PDI Dens

() 0

(3) 100 :i; :000

Which of the following is an antacid 2

s (S08 I’ e D5 Ha 2

(1) Mg(OH), (2) Al(OH),

(3) MgCo, (4) Al the above/d3,

What is ‘X" in the following reaction ?
CGHCI+ X —— C,Hg OH + KC/

(1) KHCO, (2) Alcoholic.KOH
(3) Aqueous KOH 4) K,CO,

e (808 JDEBLSHSE’ X’ &5 HQoHI®.
C,H; CI+ X —— C,H; OH + KC!/

(1) KHCO, (2) ©opFS KOH
(3) |55 KOH @) K,CO,

Which is formed when ethanol reacts with acetic acid ?

RPTS A0eIE SN’ S8 ODIYED V) &SyHHS» DB ?
(1) CH,COO C,H, (2) C,H,0C,Hq

(3) CH,0CH; (4) CH,CH,CHO

Acetaldehyde and acetone cannot be distinguished by
(1) Tollen’s test (2) Benedict’s test
(3) lodoform test (4)  Schiff’s test

Q0T E SO eSS0 (308 TS B Tgoe HYouBsw.
(1) &85y 50y - 2) BIAE S30%

3) A& 36§

-~

4) :1‘53 S56%

[31]



